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Name: __________________________________



1
The graphs of the lines represented by the equations [image: image1.png]


 and [image: image2.png]


 are

	1)
	parallel

	2)
	horizontal

	3)
	perpendicular

	4)
	intersecting, but not perpendicular



2
Which statement describes the lines whose equations are [image: image3.png]


 and [image: image4.png]by = 2x+16



?

	1)
	They are segments.

	2)
	They are perpendicular to each other.

	3)
	They intersect each other.

	4)
	They are parallel to each other.



3
The lines represented by the equations [image: image5.png]v+

Zx=4



 and [image: image6.png]3x+ fiy




 are

	1)
	the same line

	2)
	parallel

	3)
	perpendicular

	4)
	neither parallel nor perpendicular



4
The lines [image: image7.png]v+ 1=t6x+4



 and [image: image8.png]y+1

x-9



 are

	1)
	parallel

	2)
	perpendicular

	3)
	the same line

	4)
	neither parallel nor perpendicular



5
The equation of line k is [image: image9.png]


.  The equation of line m is [image: image10.png]~2x+ 6y =18



.  Lines k and m are

	1)
	parallel

	2)
	perpendicular

	3)
	the same line

	4)
	neither parallel nor perpendicular



6
The lines represented by the equations [image: image11.png]4x + fiy



 and [image: image12.png]


 are

	1)
	parallel

	2)
	the same line

	3)
	perpendicular

	4)
	intersecting, but not perpendicular



7
A student wrote the following equations:

[image: image13.png]By + 6= 2x





The lines represented by these equations are

	1)
	parallel

	2)
	the same line

	3)
	perpendicular

	4)
	intersecting, but not perpendicular



8
The two lines represented by the equations below are graphed on a coordinate plane.

[image: image14.png]



Which statement best describes the two lines?

	1)
	The lines are parallel.

	2)
	The lines are the same line.

	3)
	The lines are perpendicular.

	4)
	The lines intersect at an angle other than 90°.



9
The equations of lines k, p, and m are given below:

[image: image15.png]kx+ly=6
p o+ Iy=12
m—x+ 2y = 10




Which statement is true?

	1)
	[image: image16.png]plm





	2)
	[image: image17.png]




	3)
	[image: image18.png]




	4)
	[image: image19.png]






10
The equations of lines k, m, and n are given below.

[image: image20.png]b dy+f=2x

3+ 2546

2y =3x+6




Which statement is true?

	1)
	[image: image21.png]




	2)
	[image: image22.png]




	3)
	[image: image23.png]




	4)
	[image: image24.png]






11
Determine whether the two lines represented by the equations [image: image25.png]2x+3




 and [image: image26.png]y+x=16



 are parallel, perpendicular, or neither.  Justify your response.

12
Two lines are represented by the equations [image: image27.png]X+ 2y=4



 and [image: image28.png]


.  Determine whether these lines are parallel, perpendicular, or neither.  Justify your answer.

13
State whether the lines represented by the equations [image: image29.png]


 and [image: image30.png]


 are parallel, perpendicular, or neither.  Explain your answer.

14
Points [image: image31.png]


 and [image: image32.png]


 lie on [image: image33.png]AB



.  Points [image: image34.png]


 and [image: image35.png]


 lie on [image: image36.png]


.  Which statement is true?

	1)
	[image: image37.png]4B| €D





	2)
	[image: image38.png]4B 1 CD





	3)
	[image: image39.png]AB



 and [image: image40.png]


 are the same line.

	4)
	[image: image41.png]AB



 and [image: image42.png]


 intersect, but are not perpendicular.



15
Line P and line C lie on a coordinate plane and have equal slopes.  Neither line crosses the second or third quadrant.  Lines P and C must

	1)
	form an angle of 45°

	2)
	be perpendicular

	3)
	be horizontal

	4)
	be vertical



1
ANS:
4
REF:
011613ge

2
ANS:
4

The slope of the line of the equation of [image: image43.png]1
y=3a12



 is [image: image44.png]


  If you divide each term of the equation [image: image45.png]2x+6




 by 6, the equation is transformed to [image: image46.png]y=Sx+l



  The slope of this line is [image: image47.png]


 as well.  Since the lines have equal slope, they are parallel.
REF:
060722a

3
ANS:
2

[image: image48.png]


  [image: image49.png]i+ by =12





REF:
081014ge

4
ANS:
4

[image: image50.png]By +1=fix+d
= 6x+3

41




.  [image: image51.png]



REF:
fall0822ge

5
ANS:
1
REF:
061113ge

6
ANS:
4

[image: image52.png]



REF:
011520ge

7
ANS:
4

[image: image53.png]By +f=2x
Jy=2x-6

x-2





[image: image54.png]



REF:
081315ge

8
ANS:
4

[image: image55.png]



[image: image56.png]3x-2)=-y-4
3(x-2=y+4

m=-3




REF:
011119ge

9
ANS:
1

[image: image57.png]


  [image: image58.png]


  [image: image59.png]



REF:
081426ge

10
ANS:
4

[image: image60.png]


  [image: image61.png]


  [image: image62.png]



REF:
061518ge

11
ANS:


The slope of [image: image63.png]2x+3




 is 2.  The slope of [image: image64.png]y+x=16



 is [image: image65.png]


.  Since the slopes are opposite reciprocals, the lines are perpendicular.
REF:
011231ge

12
ANS:


The slope of [image: image66.png]X+ 2y=4



 is [image: image67.png]


.  The slope of [image: image68.png]


 is [image: image69.png]Fem



.  Since the slopes are neither equal nor opposite reciprocals, the lines are neither parallel nor perpendicular.
REF:
061231ge

13
ANS:


Neither.  The slope of [image: image70.png]


 is [image: image71.png]


.  The slope of [image: image72.png]


 is [image: image73.png]


.  The slopes are neither the same nor opposite reciprocals.
REF:
011433ge

14
ANS:
4

[image: image74.png]ol
]

13



.  [image: image75.png]18




REF:
061318ge

15
ANS:
4

Since line P and line C extend through infinity, unless they are vertical, they would eventually cross the second or third quadrant.
REF:
010309a
